October 22, 2015

1. The expression x*(x+2) - (x + 2) is equivalent to

1) x? 3) Ot —x+2

2) x2-1 :(K*wﬁ-\(s @(x + 1) - 1D)(x+2)
= (K‘kl}ﬁl-ﬁ(v;k\B o Ay
= 0 (x+Y)

2. When factored completely, x4 3 4x-12 equals

1) G+2)x-2)x-3) 3) 2-4)(x+3)
Q:)) (e +2)(x — 2)(x +3) 4) (2 - 4)x-3)

= Xz()(-!-’&S -4 ()( —(—3)

= () (-4
2 03) (- (k)
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3. Factor: Q—Bab—aﬂb
~a{&=3b)|-1 (a-~3b)

=(a-26) (a-1)

-39

4. Factored completely, the expression 12x* + 10x* - 12x* is equivalent to

1) x*(@dx+6)(3x-2) 3) 2x*(2x-3)(3x+2)
2) 2(2x* + 3003 - 22) 4) 2x*(2x+3)(3x-2)

— r -3l
- u’“(gf—.ﬂqO o(\ X
= 2 (b 404k ~0)
* AN (xfxs —D(wﬁ)
= 2\(2((2&-&-3)(-;,\_;))
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(5 1 -
5. Factor: 3a”" +a-2 ™~
b /$

—2

= 3000t 1Y a(at)

" (v ) (R0-2)

) —\— —bO

6. Factor: 10x* + 11x-6

’\
A

=\ HEY [-ax —(,
= 6¥ (9 + ?:) .-2.(.7)(.;3)

o (2%‘\'3X$X-—7\ )
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7. Factor: 12a* + 14a -6
-

SN ( bat +10-32) R

= &( £QC4 Q(; 20—

= 2 (20((20%3) ~((204

T *(tm3)(5q4)

8. Factor: 16x° -9

= (@0 -3°

= (LLx -B) ( 4(~5(+3>
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- (@)-4
(@) (<0e).
= () () (0 ()
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11. Perform the indicated operation and express in simplest form:

x? —3x éx2—5x+6 T /\‘L'
2% +x-6  x*-4 V-l ,1'?‘

PN A

X ey (|

NCS ' - (ar-D?)
DGR _ ey = C

- X
2X=3

12. Perform the indicated operations and express in lowest terms:
=9[4 7410) A 42x-15
Dtd 318 nl-1k

=M¢"g (W AXNE
FOre2) %fw | gw)z%s)

=X
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x“-16

¥ +9x+14 \ x*+3x-28

13. Express in simplest form: —
2x° +4x

16x — 8x°

14. Perform the indicated operations and si

)Hj

x2+4xy+ﬁ x2+xy ) x2+3xy

oyt XY oy

X( X(X49) (%A %

mplify:
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15. Expressed as a single fraction, L ~2 s equivalent to

1) 1 - J?i) x+2
x(x-1) x(x—1)
2) x-2 4) 3x-2
x(x—1) x(x—1)
2 K=0) _ DR FL
&0 K (- 0 X(x~1)

_ XA
X(x~)

16. Expressed as a single fraction, % - % is equivalent to
1) 6x-3 3) 4x+3
2x-3

x? - 3x
‘: 2) ’x+3 4) _ 4
2

x“—3x x? - 3x

| (x-%)
JUSSH

a= ¥ Y >

oot
RS

BA-XAY
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17. The expression 6 _ r*3 is equivalent to
y=35 y2_25

s

y-5

2) _5_ 4) Sy

y+3 y+5

L MT .
S S *33:\

Y5

. X X . .
18. The expression Tt S equivalent to

11 3

2) 2 4) gy
x?-1 2

(XA
(Xm-tz:\- (x\‘)
R

[ —

(D) =y
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3 -
19. Express in simplest form: 2): 6 +(6 _9 2 1?)

o

K =g
2k~ ox—
- 39 10%89)

o Ja+1 1
20. Express in simplest form: T a+l
oy
e (em)
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21. Simplify: [‘;;fi 4= _zi ] [%

R
2ab

éaé’-ﬂmb ;5‘)

= (0&2536 O b\> (m-).\:)(l M'b) £ + _—é_
(o) @a By~ (1a~|:\(? wkD) oAk 2ab

__204b

(2oth) 200

2ab

MZWI) 28 30
22.Reduce to simplest form [— +y : :’:;
DR 5> Yly)

(x+y)(X - 3) (1&\5)0(-3)

Kt -yf4y’
(x+4)-Y

/L@(@@@




October 22, 2015




